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NEW QUESTION 1

Debug messages from Router-A

OSPF: Rcv DBD from 10.100.1.2 on GigabitEthernet(/1 seq 0x2124 opt 0x52 flag 0x2
len 1452 mtu 2000 state EXSTART

OSPF: Nbr 10.100.1.2 has larger interface MTU

SPF: Send DBD to 10.100.1.2 on GigabitEthernet(/1l seq Ox9E6€ opt 0x52 flag O0x7
len 32

OSPF: Retransmitting DBD to 10.100.1.2 on GigabitEthernet0/1 [10]

OSPF: Send DBD to 10.100.1.2 on GigabitEtherenet(/l1l seq 0x9E6 opt 0x52 flag 0x7
len 32

OSPF Retransmitting DBD to 10.100.1.2 on GigabitEthernet0/1[11]

%$0SPF-5-ADJCHG: Process 1, Nbr 10.100.1.2 on GigabitEthernet(0/1 from EXSTART to
DOWN, Neighbor Down: Too many retransmissions

Debug messages from Router-B

OSPF: Rev DBD from 10.100.100.1 on GigabitEthernet(/1 seq OxB89E opt 0x52 flag 0x7
len 32 mtu 1600 state EXCHANGE

OSPF: Nbr 10.100.100.1 has smaller inerface MTU

Refer to the exhibit. An OSPF adjacency between Router-A and Router-B cannot reach the FULL state. Which action resolves the issue?

A. Adjust the MTU on Router-A to 1600.

B. Disable the check of the MTU value.

C. Set the OSPF media type to point-to-point.
D. Adjust the MTU on Router-B to 1604.

Answer: B

NEW QUESTION 2

Refer to the exhibit. The HSRP configuration in the exhibit fails to function. Which action resolves this issue?
A. Enable IP redirects.

B. Set the MTU to 1500 bytes.

C. Configure HSRP version 2.

D. Configure the same HSRP group on both devices.

Answer: A

NEW QUESTION 3

An engineer is troubleshooting a fabric discovery failure. Which two requirements must an engineer verify about switch connectivity to solve the problem? (Choose

two.)

A. A Cisco APIC must be attached to a spine node only.

B. A Cisco APIC must be attached to leaf nodes.

C. Spine nodes must connect to other spine nodes.

D. A Cisco APIC must be dual-attached to two separate spine nodes.
E. Leaf nodes must connect to spine nodes only.

Answer: BE

NEW QUESTION 4
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switchl# show vpc brief
Legend:
(*) — local vPC 1is down, forwarding wvia vPC peer-link

vPC domain id : 500

Peer status : peer link is down

vPC keep-alive status : Suspened (Destination IP not reachable)
Configuration consistency status : success

vPC role : secondary, operational primary

Number of vPCs configured : 4

Peer Gateway : Disabled

Dual-active exluded VLANs : -

vPC Peer-link status

B i e i e e e e

id Port Status Active vlans

1l Po500 down -

switch2# show vpc brief
Legend:
(*) — local vPC is down, forwarding wvia vPC peer-link

vPC domain id : 20

Peer status : peer link is down

vPC keep-alive status : Suspened (Destination IP not reachable)
Configuration consistency status : success

vPC role : secondary, operational primary

Number of vPCs configured : 4
Peer Gateway : Disabled
Dual-active exluded VLANSs

vPC Peer-link status

id Port Status Active wvlans

1 PoS500 down -

Refer to the exhibit. vPC between switchl and switch2 is not working. Which two actions are needed to fix the problem? (Choose two.)

A. Match vPC domain ID between the two devices.

B. Configure IP address on the interface.

C. Activate VLANSs on the vPC.

D. Configure vPC peer link and vPC peer keepalive correctly.
E. Configure one of the switches as primary for the vPC.

Answer: AC

NEW QUESTION 5

Refer to the exhibit. A switch is being downgraded to an earlier release because of a problem with the current release. After the switch is downgraded, it can no

longer forward traffic. Which action resolves the issue?

A. Enable ISSD after the downgrade is complete.
B. Roll back to the original image.

C. Reload the switch.

D. Shut and no shut the interfaces to the FEX.

Answer: B

NEW QUESTION 6

Cisco VIC iSCS8I, Boot Driver Version 2.0 (l1lw)
(C) 2010 Cisco Systems, Inc.
Initialize error 1

Refer to the exhibit. An engineer is configuring boot from iISCSI on a Cisco UCS B-Series Blade Server, but the LUN fails to mount. Which action resolves the

issue?

A. Statically configure the target information in the Boot Policy.
B. Configure an MTU size of 9000 on the appliance port.
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C. Configure a QoS policy on the vNIC.
D. Set a connection timeout value of 250 in the iISCSI Adapter Policy.

Answer: A

NEW QUESTION 7
An engineer attempts to register Cisco UCS Manager to Cisco UCS Central, but the registration fails. The engineer can ping Cisco UCS Central from UCS
Manager. Which two actions must the engineer attempt to resolve the problem? (Choose two.)

A. Synchronize the date and time to NTP for Cisco UCS Central and the Cisco UCS domains.
B. Apply the UCS Central license to UCS Central.

C. Place Cisco UCS Manager on the same subnet as Cisco UCS Central.

D. Allow port 443 between Cisco UCS Manager and Cisco UCS Central.

E. Allow port 9443 between Cisco UCS Manager and Cisco UCS Central.

Answer: AD

NEW QUESTION 8

You have an ACI environment with three APICs, two spine switches, and four-leaf switches. You wipe and reboot all APICs first then leaf and spine switches one-
by-one and successfully go through the Initial Setuo dialogue on the APIC 1 CIMC KVM console. When you log in to the APIC1 WebGUI, you notice that you do
not see any directly connected leaf switches being discovered under Fabric > Inventory > Fabric Membership. What is the cause of the issue?

A. The leaf nodes were not erased properly, which caused a fabric parameters mismatch with the APIC1.
B. Rebooting the APICs and the leaf and spine switches after wiping them is not required.

C. You forgot to enter the TEP Pool value during the Initial Setup dialogue on APIC1.

D. The same Fabric Name value should be used before after wiping all devices.

Answer: C

NEW QUESTION 9

DRAG DROP

Drag and drop the Cisco UCS SNMP fault types from the left onto the correct issues on the right.
Select and Place:

connectivity A server discovery fails.
environment An adapter is unreachable.
operational A voltage issue is detected.
server A service profile is unable to associate.
A. Mastered
B. Not Mastered
Answer: A
Explanation:
connectivity operational
environment connectivity
operational environment
server server

NEW QUESTION 10
Cisco Unified Computing System Manager raises a critical error message that indicates that the system has overlapping Ethernet and FCoE VLANSs. All of the
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Ethernet traffic on the overlapping VLANs drops. Which action resolves the issue?

A. Modify the VLAN assignment to vNICs.

B. Change the PIN groups on the vHBAs.

C. Modify the FCoE VLAN.

D. Set the FCoE VLAN as the native VLAN on server uplinks.

Answer: A

NEW QUESTION 10
A user reports that they cannot reach from a UCS server to an FC Storage array. Which command is used to test communication between an FCF and a target?

A. fcroute

B. traceroute
C. fcping

D. ping

Answer: C

NEW QUESTION 11

A server fails to boot from the operating system after a RAID1 cluster migration. The RAID remains in an inactive state during and after a service profile
association. Which action resolves the issue?

A. Configure the SAN boot target in the service profile.

B. Configure the SAN boot target to any configuration mode.

C. Use a predefined local disk configuration policy.

D. Remove the local disk configuration policy.

Answer: C

NEW QUESTION 16

Refer to the exhibit. When an engineer inserts 8-Gb FC SFP port 15 on a Cisco UCS Fabric Interconnect, the port fails. What is a possible cause of the issue?

A. Port 15 is configured as an Ethernet port.
B. Port 15 is configured for 4-Gb FC.

C. Port 15 is missing a license.

D. The polarity of the fiber cable is reversed.

Answer: B

NEW QUESTION 21

An engineer discovers that an NPV/NPIV uplink experiences a heavy load and plans to add more uplinks. Which statement about what occurs when the new
uplinks are added is true?

A. Only new connections use the new uplinks automatically.

B. Paths must be defined before new connections can use the new uplinks.

C. All connections must be reset before the new uplinks can be used.

D. New and existing connections use the new uplinks automatically.

Answer: D

NEW QUESTION 24

event manager applet looback_online override -BootupPortLoopback

action 1 syslog priority notifications msg “Switch Online”
action 2 policy-default

Refer to the exhibit. The EEM script overrides all events in the system policy. What should be added to the script to resolve the issue?
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A. event statement

B. environment variable

C. event-default action statement
D. configure terminal action

Answer: A

NEW QUESTION 28

DRAG DROP

Drag and drop the commands from the left onto the correct categories on the right.

Select and Place:

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 33

Backup Cloud
Provider

WAN-1 WAN.2

Gi02 > 172.16.1.1 i0/3 Gi02 -> 172.16.2.1
vpc2 < = — _OVPC3
e1/1
NOK-2

VPC Peer Link
e1/5-6, PO

Directory
Server

ip route 0.0.0.0/0 172.16.1.1
event manager applet Backup
event timer cron cron-entry “0 1 * % =%~
action 1.0 cli configure terminal
action 2.0 c¢li ip route 0.0.0.0/0 172.16.2.1
event manager applet No-Backup
event timer cron cron-entry “0 4 * * =*x»
action 1.0 cli configure terminal
action 2.0 cli no ip route 0.0.0.0/0 172.16.2.1
action 3.0 cli ip route 0.0.0.0/0 172.16.1.1

= Refer to the exhibit. Partial configuration from N9K-1 and N9K-2 is included. The client has two WANs connected. WAN-1 is for normal business-day activities.

= WAN-2 is for server backups during nonworking hours of 1:00 a.m. to 5:00 a.m. dalily.

The client says that at the scheduled time for backup, the data center server failed to use the WAN-2 link to back up the servers to the cloud backup system. What

is the solution to this problem?

A. The event timer must be written in epoch time format.

B. The Cisco Nexus switch must be configured with one applet because a configuration with two applets will fail.
C. The Cron entry must be configured without double quotes.

D. The applet called “Backup” must include an action to remove the current static route.
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Answer: D

NEW QUESTION 34
A network administrator attempts to install an application in the Cisco NX-OS Guest shell and receives an error that there is not enough space on the disk. Which
command must the administrator run to increase the disk space available in the Guest shell?

A. guestshell growdisk rootfs [size-in-MB]
B. guestshell pvextend rootfs [size-in-MB]
C. guestshell resize rootfs [size-in-MB]

D. guestshell resize2fs rootfs [size-in-MB]

Answer: C

NEW QUESTION 37
Your client reports that many flaps and server cluster disconnects occur in their data center. While troubleshooting the issue, you discover a network attack hitting
their Cisco Nexus 7000 Series Switches and determine that the source IP addresses are spoofed. Which first-line security solution resolves this issue?

A. Dynamic ARP Inspection
B. Unicast RPF

C. IP Source Guard

D. Storm Control

Answer: A

NEW QUESTION 39
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